SIGNATURE PAGE

P-12-2024

To the Monmouth County Board of County Commissioners:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	CME Associates
•	(PRINT)
Preparer's Name:	Behram Turan, P.E., LSRP - Principal
Signature:	Behram Junean 12/18/2023
Address:	3759 U.S. Highway 1 South, Suite 100
	Monmouth Junction, NJ 08852
Telephone No	732-951-2101
Fax No.:	732-951-2106
E-Mail Address:	bturan@cmeusa1.com
	(This should be the email where Contracts would be sent)
Contact Person:	Behram Turan, P.E., LSRP - Principal
FEIN:	
(Federal Employee ID) BRC: (Business Registration Cert)	

(Revised 2/2017)

RFP # P-12-2024

Task Number and Descri		Title Classification	Rate	Hours	Subtotal Cost
Task 1 - Methane Migration To	esting Mohammad Zaman, P.E., LSRP	Assistant Director of Environmental Engineering	\$85.58	4	\$342.32
	Ashley Castillo	Environmental Engineer	\$40.71	24	\$977.04
	Peter Berkhout	Senior Design Engineer	\$36.48	80	\$2,918.40
· · · · · · · · · · · · · · · · · · ·	Lucce Zamor	Design Engineer	\$28.81	80	\$2,304.70
		Took 1 Tatal Employee Cubastal			
		Task 1 Total Employee Subtotal Cost =			\$6,542:46
		Overhead, Benefits and Profit Multiplier =			0.50
		Total Employee Cost (Including			2.50
		Multiplier) =			\$16,356.14
	,	Direct Non-salary Expenses			
	· · · · · · · · · · · · · · · · · · ·	(printing, copying, travel, etc.) =			\$0.00
		Subcontractor Total Costs =			\$2,500.00
		TOTAL TASK #1=			\$18,856.14

The second of the

RFP # P-12-2024

Task Number and Descrip		Title Classification	Rate	Hours	Subtotal Cost
Task 2 - Landfill Gas Sam	oling Mohammad Zaman, P.E., LSRP	Assistant Director of Environmental Engineering	\$85.58	12	\$1,026.96
	Ashley Castillo	Environmental Engineer	\$40.71	100	\$4,071.00
	Peter Berkhout	Senior Design Engineer	\$36.48	90	\$3,283.20
		Task 2 Total Employee Subtotal			
		Cost =			\$8,381.16
		Overhead, Benefits and Profit			
		Multiplier =			2.50
		Total Employee Cost (Including			
· · · · · · · · · · · · · · · · · · ·		Multiplier) =			\$20,952,90
		Direct Non-salary Expenses			7=0,000
		(printing, copying, travel, etc.) =			\$0.00
		Subcontractor Total Costs =		-	\$10,500.00
		TOTAL TASK #2=		_	\$31,452.90

RFP # P-12-2024

Task Number and Description	Employee Name	Title Classification	Rate	Hours	Subtotal Cost
Task 3 - Ground Water Mapping	Behram Turan, P.E., LSRP	Director of Environmental Engineering	\$96.00	8	\$768.00
	James Sousa, Ph.D., LSRP	Senior Project Manager - Environmental Science	\$71.61	16	\$1,145.76
	Jose Bustamante	Senior Geologist	\$37.04		\$1,333.44
	Ashley Castillo	Environmental Engineer	\$40.71	70	\$2,849.70
	Rand Pianin, EIT	Environmental Engineer	\$37.45	70	\$2,621.50
		Task 3 Total Employee Subtotal			_
		Cost =			\$8,718.40
]		Overhead, Benefits and Profit			
		Multiplier =			2.50
		Total Employee Cost (Including			
		Multiplier) =			\$21,796.00
		Direct Non-salary Expenses			
		(printing, copying, travel, etc.) =			\$0.00
		Subcontractor Total Costs =			\$950.00
		TOTAL TASK #3=	-		\$22,746.00

RFP # P-12-2024

Task Number and Description	Employee Name	Title Classification	Rate	Hours	Subtotal Cost
Task 4 - Annual Topographic Survey	Michael McGurl, P.L.S.	Director of Surveying	\$67.44	8	\$539.52
	Survey 2-Party Crew	Group Rate	\$85.00	32	\$2,720.00
	Hitanshu Soni	CADD/GIS Technician	\$24.98	36	\$899.27
	Suresh Puppala, Ph.D.,P.E., LSRP	Senior Project Manager - Environmental Engineer	\$68.73	8	\$549.84
	Rand Pianin, EIT	Environmental Engineer	\$37.45	36	\$1,348.20
			,		
		Task 4 Total Employee Subtotal			
		Cost =			\$6,056.83
		Overhead, Benefits and Profit			
		Multiplier =			2.50
		Total Employee Cost (Including			
		Multiplier) =			\$15,142.09
		Direct Non-salary Expenses			
		(printing, copying, travel, etc.) =			\$0.00
		Subcontractor Total Costs =	-		\$15,749.00
		TOTAL TASK #4=			\$30,891.09

RFP # P-12-2024

Project Cost and Work Hour Proposal Forms

Task Number and Description	Employee Name	Title Classification	Rate	Hours	Subtotal Cost
Task 5 - GW Protection Program	Suresh Puppala, Ph.D.,P.E., LSRP	Senior Project Manager - Environmental Engineer	\$68.73	2	\$137.46
	James Sousa, Ph.D., LSRP	Senior Project Manager - Environmental Science	\$71.61	2	\$143.22
	Ashley Castillo	Environmental Engineer	\$40.71	24	\$977.04
	Rand Pianin, EIT	Environmental Engineer	\$37.45	12	\$449.40
	Peter Berkhout	Senior Design Engineer	\$36.48	32	\$1,167.36
		Task 5 Total Employee Subtotal			
		Cost =			\$2,874.48
		Overhead, Benefits and Profit			
		Multiplier =			2.50
		Total Employee Cost (Including			
		Multiplier) =			\$7,186.20
		Direct Non-salary Expenses			-
		(printing, copying, travel, etc.) =		L	\$0.00
		Subcontractor Total Costs =			\$360.00
		TOTAL TASK #5 =			\$7,546.20

RFP # P-12-2024

	Task Number and Description	Employee Name	Title Classification	Rate	Hours	Subtotal Cost
	Task 6 - Underground and	Mohammad Zaman, P.E., LSRP	Assistant Director of Environmental Engineering	\$85.58	24	\$2,053.92
	Aboveground Tank Management	Peter Berkhout	Senior Design Engineer	\$36.48	100	\$3,648.00
		Zahid Siddiqui, P.E.	Senior Project Manager - Environmental Science	\$70.90	16	\$1,134.40
			Task 6 Total Employee Subtotal			<u> </u>
			Cost =			\$6,836.32
			Overhead, Benefits and Profit			
			Multiplier =		1	2.50
			Total Employee Cost (Including		~ <u> </u>	
			Multiplier) =	ŀ		\$17,090.80
			Direct Non-salary Expenses			
			(printing, copying, travel, etc.) =			\$0.00
			Subcontractor Total Costs =			\$2,000.00
_			TOTAL TASK #6 =	~ •		\$19,090.80

RFP # P-12-2024

_	Task Number and Description	Employee Name	Title Classification	Rate	Hours	Subtotal Cost
	Task 7 -Technical Review of	Behram Turan, P.E., LSRP	Director of Environmental Engineering	\$96.00	24	\$2,304.00
	Alternative Cover Sources	Suresh Puppala, Ph.D.,P.E., LSRP	Senior Project Manager - Environmental Engineer	\$68.73	80	\$5,498.40
		Ashley Castillo	Environmental Engineer	\$40.71	160	\$6,513.60
			Task 7 Total Employee Subtotal			
			Cost =			\$14,316.00
			Overhead, Benefits and Profit			
<u> </u>			Multiplier =			2.50
			Total Employee Cost (Including			
			Multiplier) =			\$35,790.00
			Direct Non-salary Expenses			
			(printing, copying, travel, etc.) =			\$0.00
			Subcontractor Total Costs =			\$0.00
			TOTAL TASK #7 =			\$35,790.00

Category	Employee Name	Title Classification	Rate	Overhead,	Total Employee C
				Benefits and	· - ·
				Profit Multiplier	(Includes Multip
Principal Level Staff	Behram Turan, P.E., LSRP	Director of Environmental Engineering	\$96.00	2.50	\$24
	Mohammad Zaman, P.E., LSRP	Assistant Director of Environmental Engineering	\$85.58	2.50	\$21
	Michael McGurl, P.L.S.	Director of Surveying	\$67.44	2.50	\$16
	James Sousa, Ph.D., LSRP	Senior Project Manager - Environmental Science	\$71.61	2.50	\$17
• • • • • • • • • • • • • • • • • • • •	Zahid Siddiqui, P.E.	Senior Project Manager - Environmental Engineer	\$70.90	2.50	\$17
	Suresh Puppala, Ph.D.,P.E., LSRP	Senior Project Manager - Environmental Engineer	\$68.73	2.50	\$17
			Average Total Employee Cost		
			Principal Level Staff =		\$19
				-	
Project Manager Level Staff	Edia Caras I CDD	D. 1. 110 1 110 1 110 1			
	Eric Snee, LSRP	Project Manager- Environmental Scientist	\$49.63	2.50	\$12
	Jordyn Styczynski, EIT	Senior Design Engineer	\$45.37	2.50	\$11
	Sal Kokol	Project Manager- Senior Geologist	\$43.94	2.50	\$10
	Darshell Yacinthe	Senior Design Engineer	\$40.43	2.50	\$10
			Average Total Employee Cost		
			Project Manager Level Staff =		\$11
Senior Level Technical Staff					
	Jose Bustamante	Senior Geologist	\$37.04	2.50	\$9
	Jacquelyn Fagan	Environmental Scientist	\$42.55	2.50	\$10
	Corey Chonko	Senior Design Engineer	\$32.05	2.50	\$8
	Peter Berkhout	Senior Design Engineer	\$36.48	2.50	\$9
	Ashley Castillo	Environmental Engineer	\$40.71	2.50	\$10
	•	<u> </u>	Average Total Employee Cost	2.00	
			Senior Level Technical Staff =		\$9
Technical Level Staff					
reclinical Level Stall	Rand Pianin, EIT	Environmental Faciness	007.45		
	Rachel Boyce	Environmental Engineer Scientist	\$37.45	2.50	\$9
	Thomas Evans	Design Engineer	\$33.65 \$31.25	2.50	\$8
				2.50	\$7
	Emil bascemii	Design Engineer	\$31.25	2.50	\$7
			Average Total Employee Cost		
			Technical Level Staff =		\$8

RFP # P-12-2024

Category	Employee Name	Title Classification	Rate	Overhead,	Total Employee Cost
				Benefits and	
	·			Profit Multiplier	(Includes Multiplier)
Staff Technicians	Lucce Zamor	Design Engineer	\$28.81	2.50	\$72.02
	Hitanshu Soni	CADD/GIS Technician	\$24.98	2.50	\$62.45
		-	Average Total Employee Cost		-
			Staff Technicians =		\$67.24
Administrative (Clerical) Staff	Lisa Vollaro	Administrative Assistant	\$23.00	2.50	\$57.50
			Average Total Employee Cost		
			Administrative (Clerical) =		\$57.50
Survey Crew		Survey 2-Party Crew			
		Group Rate	\$85.00	2.50	\$212.50

RFP # P-12-2024

\$373,628.18

Proposal Summary Form		
		PROPOSAL COST
1	TOTAL ALL DEFINED TASKS - 1 THROUGH 7 TOTAL COST =	\$166,373.13
2	ON CALL HOURLY SERVICES:	
	Average Principal Level Staff Total Employee Cost X 200 hours =	\$38,355.01
	Average Project Manager Level Staff Total Employee Cost X 450 hours =	\$50,447.81
	Average Senior Level Technical Staff Total Employee Cost X 400 hours =	\$37,766.88
	Average Technical Level Staff Total Employee Cost X 350 hours =	\$29,225.00
	Average Staff Technicians Total Employee Cost X 150 hours =	\$10,085.35
	Average Administrative (Clerical) Staff Total Employee Cost X 100 hours =	\$5,750.00
	Average Survey 2-Party Crew - Group Rate Total Employee Cost X 50 hours =	\$10,625.00
	TOTAL ON CALL HOURLY SERVICES =	\$182,255.05
3	DIRECT NON-SALARY EXPENSES FOR ON CALL HOURLY SERVICES - ALLOWANCE	\$25,000.00

CONSULTANT'S TOTAL PROPOSAL COST - ITEMS 1 THRU 3 (ABOVE) INCLUSIVE =